HE JISAY (DEAMIIRSY H11=X)

=
[

21 |

=

o

(3) Xl

@ B 8
i} . S
or o1 ol mm iKJ B K %,
ras & & = T mm@ -
o HF = s> Mo@
<#n 3 8 Ki@®
- S oﬁm_. o < " @
Z 0 < o ) Ko
WL, . @@ | 8
K- o1 = R0 ] X0
u g . P N Ki
K- i1 KE ~
ol gr X0l
< = ofl) /_.uA\ —
Rl .= = =
P Klo N ujo _ﬂn @ e i ©
K- Y] __o._y M0 ! ™ =3
aJ_u_\ il 8 —~ Mm @ wﬂE >4
. SR g 5o
— = &0 ol ol | ol 20
Kl K = x_.JA.o:L._ooI.N m@_u g
W R o) O 75 3D 7l b
10 A Ko W 2= o _ |
= o o ™ = ) o L) S
040 0 o <4 . Of M = 8
- M &S &l O < N
ol o — Kq © Y
o « ¥ pagsy | o .
KD ~®=<fh 5 = _—
— oW 0 e o W & R =
no o <ol .pr X3 o o 3k
OF o 00 K0 &) 0 N o
~ O H=Kool M3 5 =
a0 <
= no 3
00 a|_| : © rel
R al
0 S
= = 2 _ & g
IH 00 " o >
oMoy 0 & ) of &
= oo o o0 ™o g1 x| ®
4+% o - - ~ o N ” 0. = ma@ G K H__._w
o= NS RWH )l i ok 2 - 5 H | © X0
gz oo om 9= ) PTG S
e ooy o B s K = 3| S« n
A <k T4 o~ 10 Som oo & O
@.MPT Nz ¥ 2 R CZ NN =
TAd=
mEE O @ @



o

SIHAHE 20254
Oll&FXb= 0 20lAt
SIHTE - DEARDIZ
OP=EINE+=
e A g = A =

g = Qo MEHEC 0] oM = &y PN S XK=
gt Hl 1,605,066 1,009,020 596,046 | & | 1,605,066 1,009,020
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fEzdaal= 0 0 0 0
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JlEt 53] 500,000 500,000 0 0 0
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01 AtS2teltl 51,200 51,200 0 51,200
Ol =otEd 72 30,0002 *800H = 24,000
OA&IMOLE HI2LI StAIE THOAIY 2 23,450
—AMMOE JHAIE e 700,000&*300K = 21,000
—AMOE JHAE A=HIE 35,000&*702| = 2,450
OE2d 298 72 2,630
—QUAR ItWA T2 2 330,000 *14! = 330
-S4 FHlWa Z28 2 600,000&*14] = 600
-GligIOHl s Z2 ) 29 600,000&*14] = 600
-EERE s T2 29
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401 AIEHIZ20HY| 100,000 0 100,000
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405 KHAHE S| 30,000 0 30,000
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